Melange A4258.. A4260.. A4268.. A4287.. A5962..

Produced from: May 2012

Single lever basin mixer
with copper tube
chrome

with flexible hose
chrome

without pop-up waste
with flexible hose
chrome

Single lever bidet mixer
with flexible hose @10
chrome

Single lever bidet mixer
with flexible hose G3/8

A4258AA

A4260AA

A4287AA

A4268AA

chrome A5962AA
20—
new Version - since May 2012
Part- Part-
Pos. Description Number Qty. Pos. Description Number Qty.
1 Lever cpl. with Logo IS A 962 040 AA 1 pcs 16  Stream regulator M21,5x1
2 Thread pin M5x5 DIN916 A 962 041 NU 1 pcs with key A 962 043 NU 1 pcs
3 Rubber button 17  Stud M8 x 63
4 Cartr. Cover (Cap) + Pos.5 A 962 042 AA 1 pcs 18 Fixation-set A 960 001 NU 1 pcs
5 O-Ring @28,3x1,78 A 961 667 NU 2 pcs 19  Pull Knob with rod A 962 044 AA 1 pcs
6 Clamping nut M43 x 1,5 20  Copper tubes g
7 Cartridge compl. K-35A A 860 114 NU 1 pcs 21 Flex. hose M8x1 / @10 A 962 045 NU 1 pcs c
1]
8 O-Ring ©34,65x 1,78 A962 848 NU 2 pcs 22  Flex. hose M8x1/G3/8 A 962 370 NU 1 pcs ?,
9 O-Ring ©31,47x 1,78 A 963 154 NU 1 pcs 23  Bracket A 963 404 NU 1 pcs E
10  Plastic insert 24  Pop-up waste complete A 961 230 AA 1 pcs
11 O-Ring ©9,25x1,78 A 963 395 NU 2 pcs 25  Body ( Bidet)
12 O-Ring @2,89x1,78 26  Ball joint M18x1 cpl. A 960 019 AA 1 pcs
13 Manifold 27  Aerator complete M18x1 B 964 902 AA 1 pcs
14  Thread pin M5x10 DIN915 A 963 309 NU 1 pcs Aerator key - Universal set
15  Body (Lavy) for Pos. 16 and other A 960 196 NU 1 pcs

Melange



